[image: image1.jpg]


5


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K26
Kawasaki ZX250R-Ninja 2008-
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	No.
	Description
	Cat.no.
	Pcs
	
	No.
	Description
	Cat.no.
	Pcs
	

	1
	Steel box M12
	X2
	1
	
	1
	Steel box M12
	X2
	1
	

	2
	Duralumin cylinder d=90mm
	238
	1
	
	2
	Duralumin cylinder d=60mm
	448
	1
	

	3
	Duralumin cylinder d=12mm
	233
	1
	
	3
	Duralumin cylinder d=46,5mm
	234
	1
	

	4
	Bolt M12x40mm (cone head)
	858
	1
	
	4
	Bolt M12x40mm (cone head)
	858
	1
	

	5
	Bold M12x40mm
	857
	1
	
	5
	Bolt M12x40mm
	857
	1
	

	6
	Silentblok D=30mm, d=15mm
	X34
	1
	
	6
	Silentblok D=30mm, d=15mm
	X34
	1
	

	7
	Poly nut d=23mm
	231
	1
	
	7
	Poly nut d=58mm
	232
	1
	

	8
	Dural.nut 22mm, d=33mm
	235
	1
	
	8
	Dural.nut 22mm, d=70mm
	236
	1
	

	9
	Bolt M10x30mm (cone head)
	846
	2
	
	9
	Bolt M10x30mm (cone head)
	846
	2
	

	10
	Nut M10-safety
	810
	1
	
	10
	Nut M10-safety
	810
	1
	

	11
	Pad M10-plane
	804
	1
	
	11
	Pad M10-plane
	804
	1
	

	12
	Duralumin adapter
	525
	1
	
	12
	Duralumin adapter
	526
	1
	

	13
	Steel  bar M10x295x30x30
	-
	1
	
	13
	3M tape
	
	1
	

	14
	3M tape
	
	1
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Installation:
1. remove the original side plastic
2. compile duralumin adapters according to the photos below
3. remove the original long bolt M10, which hold the frame of the motorcycle and engine of the motorcycle

4. give longer steel bolt into the frame of the motorcycle

5. from the left and right side give duralumin adapters on this bolt

6. mount adapters according to the photos below into the frame of the motorcycle and then use nuts M10 for tightening (give pads M10 under nuts)
7. give steel box (No. 1) in protector together with bolt (No. 5)

8. all this set mount to thread on adapter
Warning – we recommend to use safety glue on threads of all bolts (moderate strong – blue colour).
[image: image2.jpg]



[image: image3.emf][image: image4.jpg]


[image: image5.jpg]


[image: image6.png]



1

